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Section : Domain

Q.1

Ans

/5 1. Permeability
o 2 Flux density
# 3. Field intensity
< 4 Flux

Tesla is the ST Unit of .

Question ID : 5121166

Q.2

Ans

The shaded pole motor is used for:

o 1 low starting torque application

#< 2 very high starting torque application

/< 3 high starting torque application

/< 4. medium starting torque application

Question 1D - 51211635

Q.3

Ans

X 1. DC voltage
X 2 only AC power

o 3 both AC and DC power

X 4 only DC power

A dynamometer wattmeter is used for the measurement of:

Question ID : 51211641

Q.4

W 1 Zero
/< 2 Teading
X 3 Lagging
X 4 Unity

The average power consumed by a pure inductive eircuit is

Question ID : 51211615

Q5
Ans

Resonance in R-L-C series circuit canses
o 1 maximum ; minimm

/% 2 minimum ; maximum

/< 3. infinite ; zero
/% 4. zero: infinite

current and

impedance.

Question ID : 5121164

Q.6

Ans

75 1 Schering’s bridge
of 2 Wien's bridge
75 2 Owen's bridge
25 4 Maxwell's bridge

Frequency can be measured using:

Question ID : 51211647

Q.7
Ans

X2 25Hz
< 2. 100 Hz
¥ 4 50Hz

1f 3 4 pole indnierian motar nas a synchronons speed oF 1500 1m, than supply fraqmancy shonld he:

751 60 Hz

Question ID : 51211639

Q8
Ans

www.ErForunl.Net

o ' Flat rate tariff
X 2. Two part tariff
& 2 Block rate tariff

When ditferent types of consumers ars charged at ditfersnt unitorm per unit rates, ths taritt is called:

Question ID : 51211669
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@9 Find the power factor for the given circuit.

60
T AN

60
400 V BVAVAV.
I
60
AN

Ans  of 1 0.6 lagging
5 2 0.8 lagging
2 3 0.6 leading
/< 4 0.75 lagging

Question ID :

51211626

Q.10 A éry cell caemical reacticr needed 90 Joules of work to produce 1 soloumbs of caaxge separation bemwzen a2 baftery
3 Nt s, Find e lamins] vollage af i Saitery,

Ans of 16V
K25y
MX3gV
X4 av

Question ID

15121162

Q.11 Equation loran allernating vurren [ ol hequency 50 HeauG RMS value 70.7 A is wiven by
Ans  of 1 | — 1005in314t

& 2 i = 2005in628¢t

& 3 i =50Sin314t

40 = 100+/25in314t

Question ID

151211610

@12 The yoke in a large DC machine is made of:

Ans 1. (ast iron
& 2 Mild steel
# 3 Grain oriented steel
v 4 Cast steel

Question ID

51211631

Q.13 Analternator is sEpplving 2 Ioad af 100 KW ara pewer Tacor ot 0.8 Tagging ¥ (e pawer s {8 ke 10 0Ty, haw
munsy more kil walls can e ullemulor supply for the sume kvA Jaading?

Ans X 1. 400 kW
v 2 100 kW
& 3 500 kW
K 4 200KW

Question ID :

51211634

Q.14 Arcom 12 = 12m is it by L0 Jamps 1o 8 fairly unitorm Humination of 100 l/m? | Caleulats te viilismion
coefficient a7 the ranm given that the o of each Tamg is 1600 nmens

Ans 9104
M 203
K305
v i 00

Question ID

151211638

Q.15 The current in pure capacitors leads the applied voltage by:
Ans %1 full cycle

/X 2 three-fourth cycle

#< 3 half cycle

o 4 quarter cycle

Question ID : 51211643

Q_1B A 30 fums iron cored inductor is connceted o a 100V, 80 Hz sonrec. The maximum thix density i the core i3
T/ m? | Tae cross sectional arca of tha core in Transtonmer 132

Ans X' 1.0.225m?
& 20,155 m?
<3 0.35m2
v 4 0.022m?

Question ID

151211629

Q17 power factor of a purely resistive circuit is
www.ErForum.Net
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V1
< 3 Lagging
P
Q.18 natastimer loss2s are raduced by decreasinz the thicknass of lamination of meenede core and volse

Ans X' 1. copper
& 2 air friction
+ 2 eddy current
/< 4 hysteresis

Question ID : 51211625

Q.19 Accodding to Kirchinodt s law, the algehieic sum of all [R draps and eeaf's inany closed loop of a nstwork is ahways

Ans 21 One
2 Zero
& 3 Positive
#< 4 Negative

Question ID : 5121163

Q.20 Synchronous motors are particularly attractive for speeds below:
Ans 31 600 rpm

/< 2 1500 rpm

o 3 300 pm

75 4. 1000 rpm

Question ID : 51211662 ]

Q21 capacitance of a capacitor is given by:

Ans X1C:%,1

. A
KZ C*E

Egerpd

BEL =25

_ Epepd

v C="1

Question ID : 5121168

Q.22 The function of a commutator in a DC generator is

Ans  of 1 converting AC to DC
7 2 collecting the current from the armature
/< 3. to support the rofating parts
/< 4 converting DC to AC

Question 1D : 51211628

Q.23 In PN nnction dinez, the rezion cansainise the icampensated acseptor and donar fons i+ salled
Ans X" 1. Diode region

#< 2. Enhancement region

/< 3. Cut off region

o « Depletion region

Question ID : 51211653

Q.24 The bridae widely nsed for capacitancs and dissipation factor measurements is

Ans 1. Wein's bridge

Question ID : 51211648

X 2 Maxwell’s bridge
% ° High Voltage Schering’s bridge
7« Campbell’s bridge

@25 An jdeal voltage source is one which has:

Question ID : 5121161

Ans o 1 zero internal resistance
/< 2 infinite internal resistance
#< 3 very high internal resistance

< 4 very low internal resistance

Q.26 Cables used for underground services from 33 KV to 60 k' are:

Question ID : 51211663 ]

Ans 3 1. high tension cables

Net 2 extra super voltage cables
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Net X 3 super tension cables
o 4 extra high tension cables
Q27 Convert the given circuit into its equivalent delta circnit. T —
4 chm & ohm
'—\N‘N'_'ﬁfwv —
2 ohm
" i
ns (7 Rﬂﬂz 11 ﬂJRBC=22 ﬂ,RAB=733ﬂ
X > RHC = 10 ﬂlRBC = 8 ﬂ,RﬂB = 6 Q
x 3. RAG = 22 ﬂJRBC = 11 QJRAB — 733 ﬂ
x“" Rﬁﬂ - 11 ﬂlRBC = 12 HJRAB — Gﬂ
Q.28 The commonly used instrument to measure elecirical energy consumed in domsstiz, commercial and indusuial
i:wlﬁ”nrmrﬂ is Question ID : 51211650 ]
Ans o/ 1 Watthour meter
& 2 Ammeter
#< 3 Wallmeter
& 4 Voltmeter
Q.29 4 Ohms i
AN Question 1D : 5121167
12A 12 Ohms
ATV
A
i 6Ohms
Find the current flowing through the 6 Q2 resistor in the above figure.
Ans X124
V24
KaisA
Kasa
.30 i i i anai - 9
Q.30 At which of the following points does the transistor operate? Question ID - 51211658
Ans X 1. Collector point
# 2. Cut-off points
« 2 Quiescent point
/< 4 Saturation point
Q31 Rotor speed of an induction motor is given by: e —
Ans X 1. N, = (1+S)Ng
X 2 N, = (5% - 1)Ng
X3 N, =(S—1)Ns
v 4 N.=(1-5)Ng
@32 The fimetion of oil in a transformer is to provide: Qisstion ID ;54241624
Ans 1. gverloading
¢< 2 protection against lightning
o 2 insulation and cooling
#< 4 protection against short circuit
@33 The efficiency of a transformer will be maximum when: Question ID | 51211633
Ans K1
leakage reactance of the two windings are equal
/< 2 primary leakage reactance is increased
o 3 variable loss is equal to constant loss
#< 4 resistance of the two windings are equal
a talanced star conmected systsm, line voltages are ahead of their respective phase voltages.
\?e* " " . - e ‘2 I Question 1D : 51211619
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\fog o 1 30°
X 2 120°
K3 2400
< 4 60°
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Q.35 & soucor s m open cincuil cnl of 16 4. s Lormial vellage drups (o 15 4 with boad resisiane: of 20 €2 Celeulate
ils iniernal resis imee.

Ans X130
<2050
M32060

V160

Question ID : 51211642

Q36 Electrodynamometer tvpe wattmeter consists of:
Ans  of 1 two current coils and one pressure coil
# 2 one current ceil and two pressure coils
/< 3. one current ceil and one pressure coil

/< 4 only one current coil

Question ID : 51211649

Q.37 Ina drain charzcteristics of JTTT. drain current is maximum when Vi is
Ans o 1 zero

X 2 reverse biased

& 3. positive

< 4. negative

Question ID : 51211656

Q.38 starting current of three phase induction moter can be reduced to safe value by including;

Ans X1,

capacitor in rotor circuit at instant of starting.

K2
capacitor in stator circuit at instant of starting.

o 2 resistor in stator circuit at instant of starting.

K4

inductor in rotor circuit at instant of starting.

Question ID : 51211636

@39 Tdentify the circuit given below.

Question ID : 51211654

Ans o 1 Common emitter configuration
/< 2. Common base configuration

#< 3. Common collector configuration
/< 4. Common diode configuration

Q40 Bychholz relay is used for the protection of:

Question ID : 51211671

Ans 1. Alternators

« ° Transformers

75 2 Transmission lines
& 4 Circuit breakers

Q.41 Which of the following equations is valid for a three phase balancad siar connectad system?

Question ID : 51211645

www.ErForuni. e

Ans x 1 H{ 5 Er - K:
Kelp+ly+lg=1
Kegely-Tg=0
” — —_— —
Vil +1;+1,=0
\?é‘tz A penerating station which converts hea eneray from coal combustion into electiical eneray is a J —— ]
< [ uestion ID : 51211665
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& 2 Hydro power station
/< 2. Nuclear power station
# 4 Wind turbine

Page 6

Q.43 Seisct the material having the highessarc intarmptng capability when ussd as a medim in cewt breaker

Ans X' 1. Porcelain
o 2 High vacuum
< 2 5F,
< 4 0il

Question ID : 51211673

Q44 The most efficient type of damping used for moving coil type instruments is:
Ans o 1 Eddy current damping

#< 2 Fluid friction damping

#< 3 Air damping

#< 4 Motion damping

Question ID : 51211651

Q.45 15smachine bus 1 poles wmd L swlre slates ub N resoludons per minute, ben s Geguensy of indued sl in s
armariure winding of fhe machine is

Ans . BN
XT f=EHZ

120
XZ. f=EHZ

PN
13‘ f:EHE
X4 f:%ﬂz

Question ID : 51211627

QuAG A Feldcarl of n shusl mlor s 1 rsistemcs 0743 Qal 2050 Find s sverags emperais o7 e sinding o the sl
af the i when the Tesistance is incraased 70 18 €2, Temperatirs enerhiciant of reslsanc is 1.0DAC

el R
X2 45°C
K32 35°C
W 4 38°C

Question ID : 51211617

Q.47 Power factor can be improved by installing a device in parallel with load which has

Ans 31 resistive power

o 2 leading reactive power
/< 3. lagging reactive power

/< 4. apparent power

Question ID : 51211670

Q48 ©fegger is normally used for the measurement of:

Ans  3C 1. low resistance

o 2 high resistance
/< 2 low capacitance
#< 4 very low resistance

Question ID : 51211640

Q49 Tdentify the P-Channel JFET from the following symbols.
Ans D

Net

Question ID : 51211657
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Ans X 1 Q = V3V lp, Sind
X 2 Q = 3V lp, Cosd
& 3 Q=3I Cosd
W 4 Q = /3V 1, Sind

Q.50 Reactive power drawn by a 3 phase system is given by:

Question ID : 51211630

& 1. Miniature
o 2 SF,

#< 3 Vacuum

# 4 Minimum oil

Q.51 In power systems for 132 kV and above, the circuit breaker preferred is

Question 1D - 51211674

Ans X' 1. 12 SWG wire
& 2 14 SWG wire
o 3 § SWG wire
X 4 16 SWG wire

Q.52 Standard wire gauge used for earthing should not be thinner than:

Question ID : 51211661

@53 Over excited synchronous motor behaves as
Ans X 1. a diode

2 aresistor

+ 3 a capacitor

& 4 an inductor

Question ID : 51211664

Q.54 Bipolar junction transistor is a
« 1 current
& 2 resistance
/< 3 voltage
/< 4 frequency

controlled devica.

Question ID : 51211655

Ans X 1. 2. x 10%Hz
X 2.10*Hz
X3 20 x10*Hz

v (:?) % 10*Hz

Q.55 In aseries RLC cirenif, R=2kQ. L =1Hand and C = (ﬁ) uf. The resonant frequency is:

Question ID : 51211668

Q.56 M=asuieien: of power factor for balanced load by e watrmetecs or lagging power factor is:

Question ID : 51211644

\ e f( ﬁz)
s o B
- )
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Ans

\?e 7 According fo Farmdays | aw of nlestomagnstic Indction, an emfis incicad in a sondnctor whsnever it

<1

moves parallel to the direction of the magnetic field
o 2 cuts magnetic flux
7 3 lies at 180° to the magnetic flux
/2 4 lies in a magnetic field

Question ID

5121169

Page 8

Q.58

Ans

The full load copger loss end fron loss o a traasfsemer are 2500 W and 1500 W respzctively. The copper loss and iroa
Toxe at halt Inad will he raspactively:

A 11250 Wand 750 W
& 2 1250 W and 3000 W
K3 625 Wand 375 W
o 4 625 W and 1500 W

Question ID

151211646

Q.59

Ans

Estimate the resistance of the filament of a 50 W, 100 V bulb.
v 1 2000
< 2 500
23 1500
X 41000

Question ID :

51211613

Q.60
Ans

Maimum povrer transfer from souccs to load occurs when the load (csistance is the internal resistancs of the circuit.

# 1 more than
X 2 double
< 3 less than
o 4 equal to

Question ID

15121165

Q.61

Ans

‘When a 3-phase system is balanced, the neutral wire carries:
< 1. half of the current for each phase
/< 2 one third of current for each phase

+ 3 no current
< 4 one fourth of current for each phase

Question ID

151211620

Q.62

Ans

The motor used in a mixer grinder is a:
« 1 Universal motor

# 2 DC motor

# 2 Induction motor

2 4 Synchronous motor

Question ID

51211659

Q.63

Ans

Tn a transformer, is found by the short circuit test.
& 1 iron loss
X 2 hysteresis loss
W 3 copper loss
< 4 eddy current loss

Question ID :

51211623

Q.64

Ans

The transformation ratio (K) of step down transformer is:
K1 K=1
Xz2K=0
KaK=1
WiK<l

Question ID

151211622

Q.65

Ans

The capacitor in a single phase induction motor is used for:
« 1 improving the starting torque
< 2 starting the motor
/< 3. reducing the harmonics

/< 4. improving the power factor

Question ID :

51211633

Q.66
Ans

Net

In delta connection. the relation between line current and phase current is

K2l =Ipy

Question ID :

51211614

www.ErFor
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Q.67 power drawn by a 3 phase balanced load is given by:
Ans XK 1 P = +/3Vp,1p, Cosd

X 2 P =V Cos@

o = P =+/3V,[,Cos®

X4 P=+3VI

Question ID : 51211612

Q.68 Iusynchuionous metess, i the moter is orovided with over excitation, then the power Zavior bevomes

Ans o 1. leading
X 2 zero
2 3 unity
X 4 lagging

Question ID : 51211660

Q.69 The A afthe sieam power plant thar extacts heat from te fiel gases hefore appiying fo the hoiler e
Ans 3 1. draught system

« 2 economiser

#< 3 condenser

< 4 super heater

Question ID 151211667

Q.70 Theeallecior i emifier @ ot carment Ty ) ar A vansistor is relatad ro callecror o hase et off ciment (Topg) as:
(i is CT3 crvent gain of The fransistar)

Ans I
1 Iy =2
1-@
I
X 2 I — _CEO
CEQ 1+a

x 3. ICED = I[.‘EG
K 4 ICED =i a{CBG

Question ID : 51211624

Q.71 The unit of reactive power in AC series circuits is
ans of 1. VAR

#< 2 Walts

X3 VA

& 4 Ohms

Question ID : 51211618

Q.72 Taslestody: ster type . a high non Inductive resistance is din

Ans  of 1. series with meving coil
X 2 series with fixed coil
X 3 parallel with moving coil
#< 4. parallel with fixed coil

Question ID : 51211652

Q.73 The basic function of any circuit breaker in the power system is to:
Ans  of 1. make or break circuit

X 2 only break circuit

< 3 control the circuit

/< 4 only make circuit

Question ID : 51211672

Q.74 Inhydroelectric plant, surge tank is provided for the protection of the
Ans X 1. dam

' 2 penstock

< 3 power house

A 4 fuel tank

Question ID : 51211666

@.75 In circuit breakers. the curren: chopping tendency is minimised by vsing SF, gas at relatively:
Ans 3¢ 1. low pressure and high velocity

o 2 low pressure and low velocity

75 3 high pressure and low velocity

\et /< 4 high pressure and high velocity

Question ID : 51211675

www.ErForum.Net
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Q.1 Jawaharlal Nehru Port Trust is situated in which of the following states?
Ans (1. Gujarat

X 2 Goa

' 3 Maharashtra

/< 4 West Bengal

Question ID : 51211680

Q.2 Raja Ravi Verma, the foremost Indian painter and artist was born:
Ans " 1. Vishakhapatnam

» 2 Thiruvananthapuram

# 3 Chennai

75 4. Mysore

Question ID : 51211686

@3 Where is Bandhavgarh National Park located? Question ID - 51211679
Ans X 1. Odisha

& 2 Kerala

/X 3 Meghalaya

« 4+ Madhya Pradesh

Q.4 iz exporls electrivily lo unly vne of these four neighboring countries. Which is Ubal couniry?
Ans  off 1 Nepal

# 2 SriLanka

& 3 Pakistan

& 4 Bhutan

Question 1D : 51211684

@35 The Artificial Intelligence Engine “Watson’ belongs to: Question ID -51241680 ]

Ans X 1. Facebook
< 2 Google
& 3 Microsoft
v 4 IBM

Q.6 Whichof lhe following has lae povier o make hiws with respeet o any oF e meflers smencraled 1 the Union List of
e seventh Seacdule of e Conszlaoen! Question 1D - 51211683
Ans X 1. The Legislature of a State
/< 2 The Supreme Court
X 3 Both Parliament and the State Legislature

« 4 The Parliament

Q7 Economie Survey of India is presented by: Glismsiion 10 :§1344885 ]

Ans X 1. Chief Economic Adviser
# 2 Dy. Chairman, NITI Ayog
/< 3. Chairman, NITI Ayog
+ 4 Finance Minister

Q.8 2017 Nobel Prize for medicine has been awardec for research in which of the following sreas?

Al ¥ s Question ID : 51211689
ns o 1 Human circadian rhythm

75 2 Infections caused by roundworm parasites
75 2 Novel therapy against malaria
/% 4 Mechanisms of autophagy

Q.9 1In 2017. which cricketer became the fastest to score 8000 runs in ODI cricket?
Ans  of 1. Virat Kohli

< 2 Alastair Cook

< 3 AB De Villiers

7/ 4 Chris Gayle

Question ID : 51211687

Q.10 Who is the only Lok Sabha Spoaker to have presided over the Darl:ament in two conseoutive terms?
Ans X1 Meira Kumar
+ 2 Balram Jakhar

Question ID : 51211682

www.ErForunl.Net
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Q.11 Ciovernment has lanched Mahatme (Gandhi Sarkat Vikas Yojna (MGSY V) for the welfare of the
dowatrodden across the state

Ans  of 4 Punjab
< 2 Gujarat
X 3 Maharashtra
/< 4 Uttar Pradesh

Question ID : 51211688

Q.12 Who among the following was connected to the Home Rule Movement in India?
Ans o 1 Armie Besant

# 2 MG Ranade

& 3 Rash Behari Bose

X 4 GC Gokhale

Question ID : 51211676

Q.13 The Mehrauli Iron Pillar located near the Qutub Minar belongs to the period of:
Ans 1. Chandragupta Maurya

/X 2. Samudragupta

X 3 Ashoka

o 4 Chandragupta Vikramaditya

Question ID : 51211677

Q.14 Gandhiji edited which of the following newspapers/magazines?
Ans X 1. Kesari

« 2 Harijan

& 3 Statesman

& 4 Maratha

Question ID : 51211678

@15 Keoladeo National Park is located in:
Ans o 1 Rajasthan

/X 2 Chhattisgarh

#< 3 Madhya Pradesh

/< 4 Jharkhand

Question ID :51211681

Section : Quantitative Aptitude

Q.1 Trerighangled mianele ARC. if angle CAR = [ hase AR =a. parpendiclar BC = b and hypotenuse AC =z, then
secant 0= 1

Ans x1 a
c

c

XZ.;

a

Xs.;
vl

a

Question ID : 512116103

Q.2 The LCM of two natural numbers is 5U4. Which of tha following CANNOT be their HCF?
Ans x 1.9

v 226

X224

X421

Question ID : 51211692

Q3 1£36: 81 :: A : 63, find the value of A.
e X 1TTH2

X216

53 47

428

Question ID : 51211693

Q.4 If in an arithmetic progression, @, = 2 dyq, then @y, = 2x. Find the value of x.

Ans X1 @ig
K2 @y
W2 as,

et K4 Qg

Question ID : 512116101

www.ErFor
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Ans X114
W 213
X315
Aall

\féi If the mean of numbers 7, 3, 5, a and 12 is 8. then find the value of “a”.

Question ID : 512116100

Page 12

Ans (1 34 kg
<2 36kg
/<3 35ke
W4 32kg

Q.6 Tn2i¥zatrice coming T 46 par ke, how miich rice cosing T 74 par ke shanld he mived 30 that the cast o7 fre mixure

Question ID : 51211697

ans of 1% 2470
X2 %2420
X 2 T2.400
XaeT2272

Q.7 What iz the inerest payable at 6% p.a. compound interest on a loan of T 20,000 after 2 years?

Question ID : 51211694

Ans % 1
X225
<220
W 4 30

Q.8 Theefciency of A s dowble than har of 5. If both working tozeter cen finish o work in 10 days. thea I alonz can
Znish the saune woulk i bow many days?

Question 1D - 51211699

anin® om the fot of the nale?

Are XK1 18yZm
<2 9y3m
X3 9y2m
v 41843 m

Q.9 The angleatelevrion of fre fop of an 15 m hish nal2 fom 2 point an the arotind s 0% What is the dhstance ot the

Question ID : 512116102

U el profil on vush sales?

Q.10 Auarticls worlk T 4,000 13 20ld ot a profic of 104, 2% discount is allowsd o e sul privs or sush prymueal. Whal 1z

Question ID : 51211695

Ans 1. T 400
v F312
X3 T 320
X 4 T 360
@1 The factors of xy — ab + by — xa are:

Question ID : 512116104

Ans o 1 (y —a)(x+ b)
X2 (@—y)(x+b)
Xs(@-—ax-—b
K4 (atpx=b)

Tind his gait perecniage.

Ans X 1.3]1.25%
< 2 35.00%
o 2 43.75%
X 4.30.50%

Q.12 P bonight an amicl ar & discaii o 208 on the selling prica and salél it at 2 profit o7 15% more f1an the selling price

Question ID : 51211696

Ans

Q.13 [t jand mare fhe roots of the equation x* + px + g, thzn_T] aﬂd_:l are the roots of!

Question ID : 512116105

KLgxll+px+1=0
K2x2—px+g=0
vigxll-px+1=0
Kax?+px+q=0

Ans 110080
X 2 5040
Net o= 1008

Q.14 Find the least aumber that is cxactly divizible by all even numbers lying between 10 and 20

Question ID : 51211691
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Q.15 A wain of lenzh 130 m erosees e bridge In 32 secands. T <he speed o7taln s 5¢ kb, whet is the length of the bricge®

Ans 1150 m
2 200m
K3 220m
P

Question ID : 51211698

Section : General Intelligence and Reasoning

Q.1 S buildings L M N, XY, a2 stand i w il Gaving (e sanire. Eush building is exatly opposile anotber ous.
Tilding X ix 2ot trrmediately next ta ether bidldng M or 7. Thailding M is 1o uilding Vs imemertiate vight. Tilding M.
is eauolly opposite buildivg 22 Builiing I, 5 oppusibe building X, Lias building Z (o its boedals tell, Whish
ot the following hldings is Incated o hrlding 775 tmrnediate tight>

Ans x-]_ I
Nix
v:XN
KA M

Question ID : 512116111

Q.2 Which werd CANNOT be formed using lettecs o the given word not more than the aveber of tises each lettes appeass
i the given wara?

DISTINCTION

Ans X1 INSTINCT
< 2 IDIOTIC
W 3 STRICT
X 4 NICOTIN

Question ID : 512116113

Q.3 A wd sl fromma g and (ravels 15 b @ e nonb, 1 then taras sielt v o for 12 ko, Findly wrning L0, iU
‘gaz: for a dlstance of 4 kn to seach the arport. To which directiorn s the alrport with Lespect 1o the stazting polut?

Ans  of 1 North-east
X 2 South-west
& 3 North-west
X 4 South-east

Question ID : 512116118

Ans o 1 DETAROCED
< 2 RATEDOCED
/< 3 DETARDECO
& 4 RATEDDECO

Question ID : 512116112

Q.5 Select the option that is related to the thizd term in the same way as the second feim Is relaed 1o the Jrst er.

72::14

Ans “1‘ 182
X 2196
X 3 168
< 4126

Question ID : 512116108

Q.6 ome suuations ars solved ou Uk busts af o sartas st On e sanis basis selaet the st uppropeials oplion from
amongst the four altz-natives fo- the nnaokved equation.

23 X6 =—4 4R gl == 50 x84="

Ans K148
X210
xXa2
w2

Question ID : 512116115

Q.7 lowcode huige, MAKS s willen s 5790, MILK ks 8345 aad CALM o5 2748, How is CAMEL st likely (o b
wrirten in et code?

Ans X 1. YGRLT
X2 53172
K3 64135
o 4 27864

Question ID : 512116116

Q B IESALT 3x called G O s callad DIMIEG LB Callad SUGAR: and SUGAR i called 2101 which of the
"7 folluwing will be Gulnitaly sweul?

Ans X1 CHILLI
& 2 SALT
& 3 LIME
« 4 RICE

Question ID : 512116117

Q9 What will come in place of the blank in the series?

0. 8. 24, 48, . 120

NGl

Question ID : 512116119
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et < 1 64
X296
3 80
X472

Page 14

Q.0 Wit will be e value o e expression given below if sign = it imerchanged with sign — me be numver ' i
imterchanged with *17in the TF87

U —r3=

Ans K1, 20
o |
™ 3152
vz

Question ID : 512116114

Q.11 Selzct the option that is related to the third term in the same way as the second term is related to the Tirst cerm.

Fox - Vixen - Horse 1 7

Ans x 1. Doe
&< 2 Ewe
' 3 Mare
&< 4 Sow

Question ID : 512116109

Q.12 Veerhasasister. shakti Kunar s Gul's father and Manlsha is Prema's daughter. Veers wife Is Prema aad Kumar i
Shakirs hustund, How are Gul und Mandsha related?

Ans X' 1. Niece
« 2 Cousin
& 3 Sister
X 4 Aunt

Question ID : 512116106 ]

Q.13 Laa cricket match Ajay scored more rons than Balraj; Chetas scored moce mas thaw Deepais, and Ganech seored mote
rans than &jzv bt nar more than Tieepak. Who amang the givan friends scored the maximumn qns>

Ans X1 Balraj
<2 Ajay
v 3 Chetan
¢ 4 Deepak

Question ID :512116110

@14 What will come in place of the blank in the series?

200, 170, 145, 125, 110, .95
Ans X 1. 90

v 2 100

X 3105

X4 110

Question ID :512116120

Q.15 Select b vption Lt i realed o the tisd femn i e sione way s he second lena is relaled Lo e sl e,

Ans o 1 216

Question ID : 512116107

www.ErForuni.
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QA1

An
s

Read the passage carefully and answer the questions based
on it.

It is difficult today to imagine about life without electricity.
When did Thomas Alva Edison mvent the electric hght?
Well, that was about 125 years ago. What about lamps before
that time? There have been various forms of lamps since
prehistoric times. The first lamps may have been brush set
afre m an anmnal skull filled with fat. Later. but stll
thousands of years ago. Egyptians placed cotton wicks mside
hollow stones filled with grease. Greeks and Romans shaped
lamps from bronze or terra cotta and used olive o1l for fuel
Candles were a great improvement when they appeared. In
the 1700s the discovery that under glass a flame burns more
brightly and with less smoke led to glass encasements. Whale
o1l was the mam source of fuel at this tine unfil scientists
learned to use gas as a fuel. In the 1800s. kerosene lamps
appeared on the scene. Prior to Edison’s mvention. gashght
lamps were widely used. They were not only functional but
also sometimes ormate decorations for the home.

SubQuestion No : 1

The description in the passage about the first

Question 1D : 512116123

lamps may be said to be:
< 1. Highly accurate
v 2 Guesswork

& 3. Totally inaccurate

/4 Pure imagination

Page 15

Q.2

An
s

Comprehension:

Read the passage carefully and answer the questions based
on it.

It is difficult today to imagine about life without electricity.
When did Thomas Alva Edison mvent the electric hght?
Well. that was about 125 years ago. What about lamps before
that time? There have been vanous forms of lamps sice
prehistoric times. The first lamps may have been brush set
afre m an anmnal skull filled with fat. Later. but stll
thousands of vears ago. Egyptians placed cotton wicks mside
hollow stones filled with grease. Greeks and Romans shaped
lamps from bronze or terra cotta and used olive oil for fuel
Candles were a great improvement when they appeared. In
the 1700s the discovery that under glass a flame burns more
brightly and with less simoke led to glass encasements. Whale
o1l was the mam source of fuel at this tine unfil scientists
learned to use gas as a fiuel In the 1800s. kerosene lamps
appeared on the scene. Prior to Edison’s mvention. gashght
lamps were widely used. They were not only functional but
also sometimes ornate decorations for the home.

SubQuestion No : 2

When did people start using kerosene as a

Question ID : 512116124

source of fuel for lamps?
25 1. 18th century
7 2. Pre-historic times
o 3 19th century
#< 4. 20th century

www.ErForunl.Net
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@3 What did the Greeks and Romans use as fuel

Net Read the passage carefully and answer the questions based

omn i,

It is difficult today to imagine about life without electricity.
When did Thomas Alva Edison mvent the electric hght?
Well, that was about 125 years ago. What about lamps before
that time? There have been various forms of lamps since
prehistoric times. The first lamps may have been brush set
afre m an anmnal skull filled with fat. Later. but stll
thousands of years ago. Egyptians placed cotton wicks mside
hollow stones filled with grease. Greeks and Romans shaped
lamps from bronze or terra cotta and used olive o1l for fuel
Candles were a great improvement when they appeared. In
the 1700s the discovery that under glass a flame burns more
brightly and with less smoke led to glass encasements. Whale
o1l was the mam source of fuel at this tine unfil scientists
learned to use gas as a fuel. In the 1800s. kerosene lamps
appeared on the scene. Prior to Edison’s mvention. gashght
lamps were widely used. They were not only functional but
also sometimes ormate decorations for the home.

SubQuestion No : 3

Question 1D : 512116125

for their lamps?

n X 1. Whale oil

W 2 Qlive oil
K 3. (Grease
& 4 Animal fat

Page 16

Comprehension:

Read the passage carefully and answer the questions based
on it.

It is difficult today to imagine about life withont electricity.
When did Thomas Alva Edison mvent the electric light?
Well. that was about 125 years ago. What about lamps before
that time? There have been vauious forms of lamps smce
prehistoric times. The first lamps may have been brush set
afre m an anmnal skull filled with fat Later. but stil
thousands of years ago. Egyptians placed cotton wicks inside
hollow stones filled with grease. Greeks and Romans shaped
lamps from bronze or terra cotta and used olive oil for fuel
Candles were a great improvement when they appeared. In
the 1700s the discovery that under glass a flame burns more
brightly and with less smioke led to glass encasements. Whale
oil was the main source of fuel at this time until scientists
learned to use gas as a fuel. In the 1800s. kerosene lamps
appeared on the scene. Prior to Edison’s mvention. gashght
lamps were widely used. They were not only functional but
also sometimes ormate decorations for the home.

SubQuestion No : 4

Q4 An appropriate title for the above passage [

Question ID : 512116122 I

would be:

An o 1 Lights Before Electric Lamps

X 2 Edison’s Improved Versions of Lights
#< 3. Prehistoric Lamps
< 4. The Various Uses of Lamps

Comprehension:
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Q5

An
S

as found in the last line of the passage.

Read the passage carefully and answer the questions based
on it.

It is difficult today to imagine about life without electricity.
When did Thomas Alva Edison mvent the electric hght?
Well, that was about 125 years ago. What about lamps before
that time? There have been various forms of lamps since
prehistoric times. The first lamps may have been brush set
afre m an anmnal skull filled with fat. Later. but still
thousands of years ago. Egyptians placed cotton wicks mside
hollow stones filled with grease. Greeks and Romans shaped
lamps from bronze or terra cotta and used olive o1l for fuel
Candles were a great improvement when they appeared. In
the 1700s the discovery that under glass a flame burns more
brightly and with less smoke led to glass encasements. Whale
o1l was the mam source of fuel at this tine unfil scientists
learned to use gas as a fuel. In the 1800s. kerosene lamps
appeared on the scene. Prior to Edison’s mvention. gashght
lamps were widely used. They were not only functional but
also sometimes ormate decorations for the home.

SubQuestion No: 5

is a synonym of the word ‘ornate’

Question 1D : 512116126

# 1. Mechanical
+ 2 Elaborate
/< 3. Gigantic
& 4 Beautiful

Page 17

Q.6

Identify the error in the sentence given.

Question ID : 512116172

The government feels that rice production need to be increased.
< 1. rice production
/< 2. The government
X 3. feels that

+ 4 need to be increased

Q.7

Ans

Choose the correct meaning of the underlined word:

Question ID : 512116156

Emperor Asoka effected many reforins during his time.
/< 1. Was against

& 2 Balanced

& 3 Affected

+ 4 Brought about

Q.8

Ans

Fill in the blank with the appropriate preposition:

Question ID :512116133

I have a problem. [ can’t sleep night.
/< 1on

v 2 at

K3 in

/< 4 from

Q.9

Ans

Choose the appropriate antonym of the underlined word:

Question ID : 512116164

The king will accept your praposal.
25 1. listen to

W 2 reject

# 3 admit

/< 4 challenge

Q.10

Net

Choose the appropriate antonym of the underlined word: [

Question ID : 512116167

Everyone thought that the king would rejoice.

www.ErFor
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& 2 avoid
& 3 celebrate
o ¢ lament

Q11 Choose the appropriate antonym of the underlined word: T ——

There was a deficit of ¥ 21,000 in his budget.
Ans 1. shortage
/< 2 problem
XK 3 dearth
o 4 surplus

Q.12 Choose the cotrect meaning of the underlined word:

Question ID : 512116162 ]

The government decided to waive the debts of all the poor farmers.
Ans X1 frame
72X 2 propose
« > relinquish

4 wave

Q.13 i : o
Choose the correct meaning of the underlined word: QuestioRID 512116464

The captain showed his mettle by playing against the English bowlers.
Ans 1. air
/< 2 quantity
+ 2 quality
/5 4. progress

Q.14 Choose the correct meaning of the underlined word: Olisstion 1D : 512418159

A confrontation between the two groups looks imminent.
Ans X 1. nearly impossible
« 2 about to happen
/< 2. deadly

& 4 remarkable

Q15 Tdentify which type of pronoun the underlined word is: R ——

The tall man looked at himsell in the mirror.
Ans X 1. Personal
v 2 Reflexive
& 3 Possessive
#< 4 Relative

Q16 Tdentify the error in the sentence given. [ o —

She has refurned to Nagpur, hasn't she?
Ans  of 1 hasn’t she?
X 2 to Nagpur
/< 2 she
75 4. has returned

QA7 Tdentify which type of pronoun the underlined word is: Qsestich ID 512418143

“We permitted the boys to stay at our farm.

Ans . of 1. possessive

~ 2 distributive
< 2 reflexive

< 4 relative

Q.18
www.ErForum.Net Question ID : 512116140
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Tdentify which type of noun the underlined word is:

The elephant is an animal with great strength.
& 1. Collective

& 2. Common

o 3 Abstract

& 4 Material

Page 19

Q.19

Ans

Tdentify the error in the sentence given.

‘Why don’t you meet the chairman. He shall help you.
A 1 Why don’t you
# 2 shall help you
' 2 the chairman
& 4 meet

Question ID : 512116176

Q.20

Identify the error in the sentence given.

All the furnitures need to be polished again.
V' ' furnitures
/< 2 polished again
# 3 needto be
X 4 Allthe

Question 1D : 512116175

Q.21

Tdentify the adverb in the given sentence:

Did you know that these boys speak Sanskrit well?
& 1. know
W 2 well
/< 3. speak
& 4 these

Question ID : 512116129

Q.22

Change the voice of the below senfence:

Renu said that somebody had smashed her window.
K

Renu said that her window was smashed by somebody.
K2

Renu said that her window is smashed by somebody.
Ko

Renu said that her window had smashed somebody.
o 4

Renu said that her window had been smashed by somebody.

Question ID : 512116150 ]

Q.23

Ans

Identify the conjunction in the following sentence:

You will not succeed unless you work really hard.
« ' nnless
#< 2 will not
X 2 succeed
X 4 work

Question ID : 512116144

.24 Select ths option that indicates the most appropriate direct speech form of the following semtence.

Ans

Net

“I have read this poem before,” said the little girl.

X 1.
The little girl says that she had read that poem earlier.

52

The little girl says that she read that poem earlier.
N3

The little girl said that she read that poem earlier.
o 4

The little girl said that she had read that poem earlier.

Question ID : 512116149

www.ErFor

um.Net



www.ErForuni.

www.ErForuni.

% Select the option that indicztes the most appropriate indirect speech form of the following sentence.

Ans

“Catll he wiluess,” said (he magsirate W his stall

<1
The magistrate told the staff to call the witness.

Nz

The magistrate requested his staff to call the witness.
¥ &3

The magistrate ordered his staff to call the witness.

<4
The magistrate asked the staff to call the witness.

Question ID :512116146

Q.26

Ans

Identify the underlined part of speech in the given sentence:

Isn’t that a new jacket you're wearing?
o 1 Adjective

& 2 Adverb

#< 3. Preposition

# 4 Noun

Question ID : 512116139

Q.27

Ans

Identify the error in the sentence given.

Ashoka was great king. People liked him very much.
#< 1. People liked him

#< 2 very much

o 2 was great king

# 4 Ashoka

Question 1D : 512116179

Ans

Identify the adverb in the given sentence:

T feel terribly sorry for your loss.
& 1. sorry

& 2 feel

& 3 loss

o 4 terribly

Question ID : 512116130

Ans

Choose the correct meaning of the underlined word:

The new inspector in town is averse to violence.
v ' Dislike
/< 2 Ready
# 3 Favourable
< 4. Support

Question ID : 512116155

Page 20

Q.30

Ans

Identify the adverb in the given sentence:

Our PT master can run very fast.
& 1 Run

o 2 Fast

/< 3. Master

X 4 Our

Question ID : 512116127

Q.31

Ans

Choose the correct meanings of the underlined words/phrases:

The boundary wall near the house is the bone of conteation between the two brothers.

21 difficulty

« 2 cause of dispute
& 3 friendliness

& 4 bias

Question ID : 512116171

Q.32

Net

Identify the underlined part of speech in the given sentence:

George cooked for us a delicious meal.

Question ID : 512116137
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o 2 Adjective
< 3 Adverb
X 4 Verb

@33 Change the voice of the below sentence: ——

The injured boy had to be taken to the clinic by them.

Ans  of 1
They had to take the injured boy to the clinic.

75 2 They took the injured bay to the clinic.

X3
They have to take the injured boy to the clinic.

X4
They were taking the injured boy to the clinic.

Q-3 1dentify the error in the sentence given. Question |D 512116173

One has to find joy and satisfaction in his work.
Ans X 1. One has to
#< 2 joy and satisfaction
& 3 find
« 4 in his work

Q.35 Fijll in the blank with the appropriate preposition: [ " [——

The new bakery near my house opens __ 7a.m every day.
Ans 21 since
K2in
v 3 at
< 4 on

Q.36 Choose the correct meaning of the tnderlined word: Question ID 512116157

Your teacher says that your handwriting is quite illegible,
Ans X1 readable
« 2 unreadable
/< 3 beautiful
#< 4. ordinary

Q.37 hoose the appropriate antonym of the underlined word: Question 1D - 512116165

The flowering of this plant is a frequent occurrence.
Ans X 1. common
< 2 minor
X 3 major
of 4 rare

Q.38 Jdentify the arror in the sentence given.

Question ID : 512116174

The man said, “Madam I finished my work. May I go home?”
Ans x 1. MB}FI
o 2 I finished my work

X 3 Madam
7% 4 The man said

Q.39 Fill in the blank with the appropriate preposition: T —

Let's meet Rajesh taday. He does not work Saturdays
Ans X1 in
W 2 on
X3 to

www.ErForunl.Net
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et < *+ about
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Q40 Change the voice of the sentences:

I think Sham will be invited to the party.
Ans o 1 1 think they will invite Sham to the party.

K2
T think they will be inviting Sham to the party.

#< 3. T think Sham is invited to the party.
#< 4. I think they are inviting Sham to the party.

Question ID : 512116153

“Woulc you lixe to attend the summer camp ™ said the NCC officer.

Ans Jq
X2
p g

The NCC officer ordered me whether T would like to attend the summer camp.

X oa

The NCC officer asked me whether I am fo attend the summer camp.

Q.41 Select the option (hal indicates (e most appropriate ndirect speech omm of the following senlence.

Question ID : 512116147

The NCC officer asked me whether I would like to attend the summer camp.

The NCC officer had asked me whether T would like to attend the summer camp.

Ram is going to the cinema __ Saturday.
Ans o 1 on
#< 2 through
X3 in
X 4 at

Q42 Fill in the blank with the appropriate preposition: [

Question ID : 512116132 ]

Q43 Tdentify the adverb in the given sentence:

Mahesh got up late today morning.
Ans X 1. gotup
v 2 late
X 3 today

/< 4. mormming

Question ID :512116131

Q44 Tdentify the error in the sentence given.

The Vice Chancellor have not agreed to the proposal.
Ans 31 the proposal
& 2 The Vice Chancellor
X 3 agreed to
+ 4 have not

Question ID : 512116177

Q.45 Select the aption that irdicates the mast appropriate ieditect speech form of the following sentence.

The old man said {o the jailer. “Please let me go and see my son.”

Ans X1

The old man asked the jailer to permit him to go and see his son.

X2

The old man said to the jailer to permit him to go and see his son.

W3

The old man requested the jailer to permit him to go and see his son.

r

The old man told the jailer to permit him to go and see his son.

Question ID : 512116145

www.ErForuni.

@48 Choose the appropriate antonym of the underlined word:

Mr. Kumar, the miser. lives at the corner of this street.
Ans  of 1 spendthrift
& 2 mister
< 2 saver

Net

Question ID : 512116163
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Net #¢ 4 lawyer

Page 23

Q.47 Fill in the blank with the appropriate preposition:
Sati has to catch two flights to reachhome _ the Christmas day.
Ans J 1 on
K2 at
& 3 from
X4 in

Question ID : 512116134

Q.48 [dentify the underlined part of speech in the given sentence:

Hush! Don’t walke the sleeping giant.
Ans 1. Adjective

< 2 Adverb

« = Interjection

75 4 Conjunction

Question ID : 512116138

Q.49 Choose the correct meanings of the underlined words/phrases:

If you try to book a ticket at the eleventh hour, you may not get the ired seats.

Question iD : 512116170

q

Ans  of 1 in the last minute
/5 2 at llpm
& 3 swhen the hour is eleven
& 4 in eleven hours

Q.50 Choose the correct meaning of the underlined word:

The artist was captivated by the beauty of the mountains.
Ans 1. put down

v 2 fascinated

/< 3 putoff

/< 4 challengad

Question ID : 512116160

Q.51 Choose the correct meanings of the underlined words/phrases:

The recent victory in the tournament finals is a featherin the cap of our football captain.

Question ID : 512116169

Ans X 1. a cap full of feathers

#< 2 a black mark
+ 3 an achievement
/< 4 afeathered cap

Q.52 Select (he option (hat indicates the mosk approprate direct speech fono of (e following senlence.

Soni said, %I am buying a new pan.’”

Question ID : 512116148

Ans X 1. Soni said that she had a new pen.
X2

Soni said that she was going to buy a new pen.
o 5 Soni said that she was buying a new pen.
#< 4 Soni said that she had bought a new pen.

Q.53 Tdentify the error in the sentence given.

Question ID : 512116178

“What would you like to order, Sir?” “Two teas, please.”
Ans off 1 Two teas

X 2 please

2< 3. What would you

/4 4 like to order

Q.54 Choose the correct meanings of the underlined words/phrases:

Question ID : 512116168

Fiscal management is the alpha and omega of our business firm.
Ans 1. Strong background

« 2 The beginning and the end

Net /< 3 Immense importance
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/< 4 Financial backdrop

Page 24

Q.55

Change the voice of the below sentence:

It is believed that the prisoner escaped by digging a tunnel.

.t

The prisoner is believed to escape by digging a tunnel.
X2

The prisoner is believed to have been escaped by digging a tunnel.

O
They think that the prisoner escaped by digging a tunnel.

o 4

The prisoner is believed to have escaped by digging a tunnel.

Question ID : 512116154

Q.56

Ans

Change the voice of the below sentence:

You should wash this new dress by hand.
W

This new dress should be washed by hand by you.
/< 2 This new dress is washed by hand by vou.

X 3
This new dress is being washed by hand by you.

/< 4 This new dress was washed by hand by you.

Question ID : 512116152

Q.57

Choose the correct meaning of the underlined word:

For a college-going student. Sruthi’s behaviour is often childish.
& 1. mature
< 2 bold
V' immature
& 4 confident

Question ID : 512116158

Identify the adverb in the given sentence:

It is unfortunate that our seminar was badly organised.
& 1 unfortunate
o 2 badly

& 3 seminar

75 4 our

Question ID : 512116128

Q.59

Ans

Identify the error in the sentence given.

The value of Indian currency has fallen down.
#5 1. The value

/< 2 of Indian currency

& 2 has

« ¢ fallen down

Question ID : 512116181

Q.60

Ans

Identify which type of noun the underlined word is:

The jury pronounced a ‘not guilty’ verdict, which surprised many.
#< 1. Abstract

75 2 Proper

< 3 Common

o ¢ Collective

Question ID : 512116141
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